1350 —

2

1+-2 =@Z—F
A sipery Al EToIES| BTV R | pn e am—vl| gk | B | IERE
O O O
SIRETF U HFA 3—0| 6 1
2—0 2—1 2—1
X X X
FFoIFE 0—3| 3 4
0—2 1—2 0—2
X O O
Y A 2—1| 5 2
1—2 2—1 2—1
X O X
BB AR—Y 1—2| 4 3
1—2 2—0 1—2
FIREG  Fome H3RE
12—k 1-4 1-3 1-2
23—k 2-3 2-4 3-4
34 =—F
B &<b257| H - K& |4werys g PRERE | 505 | IIEAT
\ O O O
S BrI7 3—0| 6 1
2—0 2—0 2—0
X O O
A - K= 2—1| 5 2
0—2 2—0 2—0
X X O
ASI5EF VB 1—2| 4 3
0—2 0—2 2—0
X X X
P2 0—3| 3 4
0—2 0—2 0—2
FlAs Fo2As I3RS
33—k 1-4 1-3 1-2
4 z— k 2-3 2-4 3-4




A 147

B 4L

A 314

B 2/L

A 2{r

B 317

A4fr

B 1%

15V —7 REsbh—F A

NN O A

SIRET UV A -
1

# 1

B H) R AR— .
2

H-K = -

H 7Y & =
1

SETVYB 5

FroITs .

S<BbUTT :




2 — 7

5.6 Z— |
A NF el 7 L X | Amt sy oA RS K| A2 Z 7 || SR | 1505 | NEQT
O O O O
N1 EHER = 4—0| 8 1
2—1 2—0 2—0 2—0
X O O O
AN 3—1 7 2
1—2 2—0 2—1 2—0
X X X O
AT TR A L=3 5 | 4
0—2 0—2 1—2 2—1
X X O O
RES 2—2| 6 3
0—2 1—2 2—1 2—1
X X X X
WA Z 7 O0—4] 4 5
0—2 0—2 1—2 1—2
BIAE  FE2RkE E3REe FH4aREe Fess
5a—h 2-5 1-5 1-4 1-3 1-2
62— b 3—4 2-3 3-5 2-4 4-5
7.8 =@=—Fk
B 55T | AEEFUYD|HEY s ST - || BERL N 1505 | BT
X O O
5562 2 — 1 b5 2
0—2 2—0 2—1
. . O O X
AIBET VYD o —1| 5 1
2—0 2—1 1—2
. X X O
FHEN T TTA 1—2 4 3
0—2 1—2 2—1
X O X
B —& T4 R 1—92 4 4
1—2 2—1 1—2
FIRE  FRE EIRE
73—k 1-4 1-3 1-2
8§=— b 2-3 24 3-4




2HF Y — 2

9.10 =—F
C pEEEss | kk sz 57 amnrsy ol TRY® || BERE | 4205 | NIEAT
@) O O
RS B 3—0| 6 1
2—0 2—0 2—1
X O O
K&Hr757 2—1| 5 2
0—2 2—0 2—0
X X X
LVET. TR 4 C 0—3| 3 4
0—2 0—2 0—2
X X O
TRY® 1—2| 4 3
1—2 0—2 2—0
FIREG  Fome H3RE
9a— h 1-4 1-3 1-2
10—k 2-3 2-4 3-4
11.12 =2—Fh
D vt smlannlscaor o | mas o || BER | B0 | BT
O O O
e RA LTI TT 3—0| 6 1
2—0 2—0 2—0
X O O
AL ER 2—1 5 | 2
0—2 2—1 2—0
X X X
X<HIvh K 0—3| 3 4
0—2 1—2 0—2
X X O
BEELY Y 1—2| 4 3
0—2 0—2 2—0
FlAs Fo2As I3RS
11=2— b 1-4 1-3 1-2
12—k 2-3 2-4 3-4




L. ~
2EpY —7
13.14 =—Fh
E scoser o | ATKA  [awn sy | men 2 52| Bk | 5| ERT
X O O
LIELSBIUE (9) 2—1| 5 2
1—2 2—0 2—0
O O O
2 ATKA 3—0| 6 1
2—1 2—0 2—0
X X O
3| Awmr. 1Ny 4B 1—2| 4 3
0—2 0—2 2—1
X X X
4| mEvrs7C 0—3| 3 4
0—2 0—2 1—2
EIRA  Hoke EsRA
13z2— | 1-4 1-3 1-2
14=1— | 2-3 2-4 3-4
15.16 ==— |
F “HAHA Hran 7—4 | mevl o7l B 5| NERT
O O
1 ~HA 2—0| 4 1
2—0 2—0
X O
2 HLIW 1—1]| 3 2
0—2 2—0
X X
3 7= 0—2| 2 3
0—2 0—2
4 HLH-5B
Sk \
FIREG FHors HEIRA
15—k 1-4 1-3 1-2
16— | 2-3 2-4 3-4




2HF Y — 2

17.18 @a—F
G g-m-E-| BB-U T—) Hova || SR 150 | BN
O X O
Fo oo b IF 2—1| 5 1
2—0 1—2 2—0
X O O
B-B-U 2—1| 5 2
0—2 2—0 2—0
O X O
T/ 2—1| 5 3
2—1 0—2 2—0
X X X
Hya 0—3| 3 4
0—2 0—2 0—2
EIRES  PE2Rks FE3RS
17—k 1-4 1-3 1-2
18—k 2-3 2-4 3-4
19.20 =@=— |
H SikEFVCliEERkEE  TTI TRYQ® | BE | #5055 | NERT
‘ O O O
AlEET U YC 3—0| 6 1
2—0 2—0 2—1
X O O
s [ ELER SR 2—1| 5 2
0—2 2—0 2—0
X X O
TTI 1—2| 4 3
0—2 0—2 2—0
X X X
TRYQD 0—3| 3 4
1—2 0—2 0—2
FIRE  BEeRks B3RS
192— |k 1-4 1-3 1-2
20— K 2-3 2-4 3-4

3/2

2/2

2/3



A 14

G 2/iL

B 2/

H 11

E 147

C 24L

F 24L

D 147

2¥Y — 7

N FLER B 2

1L« 2L h—F A b

552

hREE

ArETUYC

ELBHIVERO)

ATKA

AL ERA

K&>277

—=HA

HLEIWN

PR LT T TT

TR

ol L BR =R

2 2
| 1
1 0
1 2
0 0
A
A
2 A 2
N
y
%
2 5 2
7
211
1 2
1 2
2 1
2 0
0 0
2 0
2 2

X EREBONSIT—LTYTF

ABESTVHD

C 1{Z

E 2/

D 2fr

F 14L

G 11z

A 2L

H 2

B 11



A 314

G 4 /L

B 4L

H 31

E 3/L

C 4hL

A 51

D 3{iL

28— 3fL- 4L BALF—TF AV b

peEs M

Ha

v —& T4 R

TTI

TRY @

HEY 7 Z7C

EL<BHIVE (K

SVETTANY 4B

SBTTANY 4 C

W T 7

BREL AT

X RBOHIT—b=vF

T—J

AYETTRY (A

TRY D

HED T TTA

C 34L

E 4L

D 47

F 34L

G 31

A4frL

H 4 i

B 3/i%



